Varied Fluency
Subtracting Money

Developing
1a. The completed number line should

look like this:

TIPRVAE
100p 30p
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2a. £1 and 50p
3a. £3 and 10p
4a. £2 and 10p

Expected
5a. The completed number line should

look like this:

£2 and 30p £1 and 15p
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&5p

50p

éa. £2 and 85p
7a.£7 and 15p
8a. £6 and 5p

Greater Depth
9a. The completed subtraction and

number line should look like this:

£13andé2p - | 964p | = | 398p
m
[
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5p 62p

10a. £6 and 87p less

11a.£16 and 92p - £11 and 85p = £5 and
7p

12a. £6 and 80p

Varied Fluency
Subtracting Money

Developing
1b. The completed number line should

look like this:

2b. £1 and 20p
3b. £2 and 10p
4b. £3 and 50p

Expected
5b. The completed number line should

look like this:

£2 and 45p £4 and 15p
| | |
. 40p
éb. £4 and 5p

7b. £2 and 85p
8b. £4 and 10p

Greater Depth
9b. The completed subtraction and

number line should look like this:

£17and 19p - [E15and 60p| = 159p
£97p 863p
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10b. £5 and 56p

11b. £17 and 43p - £4 and 98p = £12 and
45p

12b. £4 and 92p



